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Consequential Damages

----------------

Announcements
- Course eval now available
- Last class will be review session; will spend part of it doing Exercise 8 (last year's exam)
- Exam will have 16 multiple choice questions (still 1/3 of total score)
- Multiple choice Qs will be almost exclusively from 2nd minimester (excuses, breach conditions, damages), but essay may also cover 1st minimester

--------------------

Hadley v. Baxendale, 1854

Plaintiffs in mill business; had only one staff for mill, which broke; Ds did not deliver on time
Staff: vital piece, rod around which millwheel turns
Cost 2 pounds 4 shillings; damages 25 pounds -- why?
Consequence of delayed delivery: shut down for 5 days

2.5 kinds of damages:
- Direct damages, "arising according to the usual course of things" (here, 2 pounds 4 shillings)
- Incidental damages
- Consequential damages, ONLY allowed if they "may reasonably be supposed to be in the contemplation of both parties when the contract was made

Problem here: Baxendale didn't foresee the consequences of late delivery.  
TQ: Hadley made it clear that the shaft was important; why wasn't that enough for consequential damages? A: Baxendale didn't know they only had one. -- Also, there could be other reasons for the mill shutting down.

Why should this be the rule? Isn't this unfair to Hadley (Why should they have to spell everything out?)
- Counterargument to this: Bax would have no way to anticipate what the damages might be.

Policy rationale: IF consequential damages are known, THEN:
- Parties can agree to liquidated damages clause OR
- the breaching party can avoid/minimize harm more cost effectively

"We wouldn't have Fed Ex if we didn't allow them to limit their consequential damages."

Does the rule work in this case? Y: Bax can't afford this kind of risk; mill is in better position to absorb the loss.

Consider time: 1854, advent of Industrial Revolution, need to protect vital industries.

"The amazing thing is, this is still good law." (Even under UCC.)

This rule doesn't necessarily allocate risk fairly, BUT the problem is that consequential damages are of potentially unlimited scope ("for want of a nail...").

-------------------------

Summary: direct ("general") vs. consequential ("special") damages

(NB: lost profits can be either -- Evergreen v. Milstead: lost profit was direct result of breach.)

R2d 351(3): Courts can limit consequential damages to avoid disproportionate compensation (this is in addition to Hadley rule)
(thus, cons damages can be "only several multiples" of direct damages)

R2d 352: Damages CANNOT be speculative - e.g. no recovery for new business' lost profits, because no track record of past profits (unless other probative evidence available)

-------------------------

Rockingham County v. Luten Bridge

Bridge contract declared invalid - LB told not to proceed any further, but build bridge anyway.
Why would K be illegal? 
- Lengthy process for approving public Ks; a screwup at any step can invalidate

Problem with the completed bridge: no road.

First issue: was the K valid? A: Y, county can't just void the K -- there is a breach.

Next: since there was a breach, what damages is LB entitled to?
- Once K is breached, LB has duty to mitigate damages.
- Ruling: LB therefore not entitled to compensation for costs incurred after notice

Proper measure of damages: 
- Compensation for labor & materials & expense of partial performance
- PLUS anticipated profit

Q: Why did LB keep going? (Thought it was a unilateral K, and they had to complete it before they could sue)

---------------------------

Blum problem 1

K: $500k for demolishing outcrop

DM buys $100k in explosives (returnable), takes $20k in nonrefundable costs; then CB cancels.  DM continues with demolition, incurs another $5k in costs.
What are DM's damages?  $20k nonrefundable costs + $375k lost profit = $395k

SQ: Why not frustration of purpose? A: Who bears the risk?

Holmesian view: K is promise to perform OR to pay damages -- "we don't care which"

--------------------------

Exercise 7 (modeled on Freund v. Washington Square Press)

Basic problem: K damages can't be speculative; don't know how many copies would have sold if Waldemart had performed.

SQ: Couldn't you see how well books of this kind would normally sell? Problem: all books are different.

Consequential damages for self-publishing? Kept writing because never notified.  Court in Freund case: no, can't price the emotional value of publishing. (Telman: court was wrong.)

What about specific performance? Problem: already self-published; also usual problems with forcing people to do something they don't want to do (might just "publish" it and leave all the copies in a warehouse.)

What about career delay? A: Nope, not in contemplation of parties when K was made.

7-1-b: if second book sells well, does it make a difference? No: all books are different.

7-2-a: 2-yr K @$100k/yr, cancels after 6 mo. 6 mo. unemployed, then hired for 1 year @ $90k/yr, but must pay recruiter 10% of that.

Direct loss = ($100k * 2) - $50k = $150k
Loss avoided = $90k - $9k "extra loss" = $81k
Damages = $150k - $81k = $69k

7-2-b: $150k in direct loss; also at-will employment gives no confidence of keeping the offered job.
BUT if there was a failure to mitigate, the loss would be $75k.

In employment cases, mitigation must involve COMPARABLE work

SQ: Lower threshold for "speculative" mitigation than speculative damages? A: Somewhat; court would need to see the mitigation amount as a plausible outcome.

